PR Received dated 6 Jun 2016 - 12 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 13 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11604587 9-Jun-2016 CONZZ30497 [BRAKING COIL CAR ROLLER DC (MMD004906,MMD004907) 10.00[  Set SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 20-Jun-2016
2 11602628 9-Jun-2016 CONZZz02678 [LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 45.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 20-Jun-2016
3 11604595 | 7-Jun-2016 | CONzz31e02 [for T TER FLEMENT DPA0-205 (24"x24"x2") "AIR GUARD" FOR AIR COMP 12.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 20-Jun-2016
4 11604636 9-Jun-2016 CONZZz31735 |INSULATION CASTABLE CJ-ROCKS FOR FURNACE 400.00| Kilograms |  JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 20-Jun-2016
5 11604523 6-Jun-2016 STA3000411  |SIKA GROUT 214-11 NON SHRINK GROUT 10.00| Bag JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 20-Jun-2016
6 11604542 7-Jun-2016 CONZZz21279 [SEAL-O-RING P/N.5H6005 FOR FINAL DRIVE OF KRESS 4.00[ Each PHUSAKUL, MR. KUMPU BKK KumpuP@ssi-steel.com INCOMPLETE 20-Jun-2016
7 11604421 9-Jun-2016 CONAZ00004 |KEROSENE OIL(BLUE) ifuda 100.00 Pip CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 20-Jun-2016
8 11604668 8-Jun-2016 STA3000076 Aua  "SOLO"uuevvem e 2" 2.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 20-Jun-2016
9 11604668 8-Jun-2016 STA9999999  [umawdauanslai M10 awen 3 ) 20.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 20-Jun-2016
10 11604658 7-Jun-2016 STA1000852 |amavussqianans 200.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 20-Jun-2016
11 11604195 9-Jun-2016 CONZZz29095 |&inwduvmuaieas EPICON FINISH RAL 5015 TOA 5.00f Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 20-Jun-2016
12 11604635 7-Jun-2016 CONZZ31512 |sendlan 50 SQ.MM (&&u)....én (100M/1 ROLL) 3.00| Roll SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 20-Jun-2016
13 11604443 9-Jun-2016 CONZZ28944 [SAFETY TAG ELECTICAL (RED) (viaaz 100 Tu,lsitznian-1in1n12) 60.00/ BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
14 11604444 9-Jun-2016 CONZZ28945 [SAFETY TAG MECHANICAL ( YELLOW) (viaaz 100 Tu,lsitznian-1in1n17) 60.00/ BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
15 11604669 8-Jun-2016 STA1000889  [3fh 1henatvanu 100.00f Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
16 11604669 8-Jun-2016 STA1004210 [thenaevasin (VIGSAL) 24.00( Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
17 11604669 8-Jun-2016 STA2000264 |ihendansvan 12.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
18 11604669 8-Jun-2016 STA2000541  [wWawihaneau 100.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
19 11604669 8-Jun-2016 STA2000542  |dulavi(tihenaieanu) 24.00| GALLON PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
20 11604613 6-Jun-2016 STA4006725  |qoldavsa 200.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 20-Jun-2016
21 11604679 8-Jun-2016 STA2000364  [thenansa 24.00| Kilograms PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 20-Jun-2016
22 11604679 8-Jun-2016 STA2000568  |adu 20.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 20-Jun-2016
23 11604679 8-Jun-2016 STA2000569  [1lua 24.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 20-Jun-2016
24 11604679 8-Jun-2016 STA2000695  [w&nuvl nxave 24.00|  box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 20-Jun-2016
25 11604679 8-Jun-2016 STA2000971  |mau@lue( wuuas ) 24.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 20-Jun-2016
26 11604264 7-Jun-2016 CONZZ04951 [SOCKET HEAD CAP SCREW  M8-1.25x35 mm. 30.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
27 11604543 7-Jun-2016 CONZZ05755 [NUT HEX.HEAD (CLASS 8.8) M27-P.=3 25.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
28 11603694 9-Jun-2016 CONZZz05811  [NUT HEX.HEAD (CLASS 8.8) M16-2 300.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
29 11603886 7-Jun-2016 CONZZ06733  |FLAT HEAD HEX.SOCKET  M10-1.5x30 mm.#FULL THREAD 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
30 11600280 7-Jun-2016 CONZZ06776  |BOLT&NUT HEX.HEAD M10-1.5x20 mm.(CLASS 8.8) 90.00f Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
31 11604544 7-Jun-2016 CONZZ06778 ??LT&NUT HEX.HEAD M10-1.5x40 mm.(CLASS 8.8) FOR FANTUZZI NO.12- 40.00[  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
32 11603887 7-Jun-2016 CONZZ06779 |BOLT&NUT HEX.HEAD M10-1.5x50 mm(CLASS 8.8) FOR VEHICLE 80.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016

Page 1 of 2




PR Received dated 6 Jun 2016 - 12 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 13 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11604278 7-Jun-2016 CONZZ06854 SOCKET HEAD CAP SCREW  M8-1.25x20 mm.#CLASS 8.8 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
34 11604271 7-Jun-2016 CONZZ08039 BOLT HEX.HEAD(CLASS 8.8) M30-3.5x100 mm. 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
35 11603889 7-Jun-2016 CONZZ08084 SOCKET HEAD CAP SCREW M8-1.25x25 mm.#CLASS 8.8 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
36 11604272 7-Jun-2016 CONZZ08104 SOCKET HEAD CAP SCREW M12-1.75x70 mm. 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
37 11604275 7-Jun-2016 CONzz08121 SOCKET HEAD CAP SCREW  M16-2.0x140 mm. 12.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
38 11604548 7-Jun-2016 CONZZz08152 SPRING WASHER M27 16.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
39 11604317 9-Jun-2016 CONZzZz12841 SV?ALSTH:EX'HEAD & NUT(GAL.) M8-1.25x30 mm.& FLAT WASSER + SPRING 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
40 11604645 9-Jun-2016 CONZZz14250 ANCHOR SHACKLES(&tAutdn"STAINLESS DIA.6 MM.) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
41 11603903 7-Jun-2016 CONZZz14730 FLAT HEAD HEX.SOCKET M8-1.25x20MM (CLASS 8.8) FOR PAY OFF SKM#1,2 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
42 11604304 9-Jun-2016 CONZZz18719 SOCKET HEAD CAP SCREW  M6-1x40 (MAT.STAINLESS) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
43 11510281 9-Jun-2016 CONZZz19008 TUBE CLAMP CARBON STEEL FOR PIPE OD.90 MM.(3") 4.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
44 11510282 9-Jun-2016 CONZZz22027 TUBE CLAMP CARBON STEEL FOR PIPE OD.73 MM (2 1/2") 10.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
45 11604563 7-Jun-2016 CONZZ22653 ?SEEKAESE:?BS;‘P SCREW  M27-3.0x110 MM#CLASS 8.8 (END 16.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
46 11604293 9-Jun-2016 CONZZz22889 BOLT HEX.HEAD&NUT+WASHER M10x1.5x100 STAINLESS 50.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
47 11604562 9-Jun-2016 CONZZ23679 LOW HEAD SOCKET CAP SCREW M16-2 x 50 MM (CLASS 8.8 ) 150.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
48 11604561 9-Jun-2016 CONZZz28590 NYLON INSERT LOCKNUT  M12-P.=1.75(STAINLESS) 90.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
49 11604474 7-Jun-2016 CONZZ29265 SPRING PIN DIA. 16x80 MM. (MAT: STEEL)FOR PAY OFF SKM#1,2 18.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
50 11604342 7-Jun-2016 CONZzZz30668 FLAT HEAD HEX.SOCKET M10-1.5x20 mm. FOR PAY OFF SKM#1,2 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
51 11604522 7-Jun-2016 CONZzZ31911 E?XP'?_'?{:;QINLESS STEEL AISI310 DIA.10 MM.x L= 6 MTR. FOR CHARGING 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016
52 11604522 7-Jun-2016 CONzz31912 |ROUND STAINLESS STEEL AISI304 DIA.10 MM.x L= 6 MTR. FOR CHARGING 12.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 20-Jun-2016

DIAPHRAGM

Page 2 of 2




